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Rectangular Intensity Plot [cd/klm]

C000−180: 2φ
C50%

 = −11 → 11 = 23°, 2φ
C10%

 = −23 → 23 = 46°

C090−270: 2φ
γ50%

 = −11 → 11 = 23°, 2φ
γ10%

 = −22 → 23 = 45°
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Rectangular Intensity Plot [cd/klm]

C000−180: 2φ
C50%

 = −15 → 15 = 29°, 2φ
C10%

 = −30 → 31 = 61°

C090−270: 2φ
γ50%

 = −14 → 14 = 29°, 2φ
γ10%

 = −30 → 31 = 61°
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Rectangular Intensity Plot [cd/klm]

C000−180: 2φ
C50%

 = −18 → 18 = 36°, 2φ
C10%

 = −37 → 38 = 76°

C090−270: 2φ
γ50%

 = −18 → 18 = 36°, 2φ
γ10%

 = −38 → 38 = 76°
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Rectangular Intensity Plot [cd/klm]

C000−180: 2φ
C50%

 = −22 → 23 = 45°, 2φ
C10%

 = −43 → 43 = 86°

C090−270: 2φ
γ50%

 = −22 → 23 = 45°, 2φ
γ10%

 = −43 → 43 = 86°








